o —_ . . 5 . SlEBEL- - - 5 (R 4T AL 5 =
20234 WRIT%E = fEH T8 £ CEEE ;%E%ff)fg%.gfﬁ%{gl:iijmu_%ﬁEII-|'1JE—]\?FJ’%;-.& T RBECFPRTELERRAUNOEEE) BREKE IMNEE S0
[ % e FE | masm| o0 ] BE ESCI pe—— e | nsa| o] & S0 Py [ ) W 1 5 Py [ I ;O ESE 0 pem——
=R #ER ST o B ET wEE | 7" ##ER LT i Bl RESE KEE |77 EE RETE rEE |7 i% #HER KEE | 7"
1 1A [HES 1 [HES S
2 1 2 [ & 2|8 1 2 [ AES
3 3 [ TBFEY 3| A 1 MAEE 3 [ X 3|8 1
4 418 41K WARER A 4 | B
5 5 1% 1 5|7 5|+ 5|k
6 6|+ BEEREH AES 6 A 1 6 |7
7 S 7 1 BEEREH IAES 11A [AES
8 Agst 8 [HES 8 [ X 8
9 1 9 R 1 9 [ 9 BEBERH
10 10 0|8 MES FREATE 10 1 BEBRH
11 11 1 1] & iy [HRE? FREATE 11
12 12 12] 7 iy [AES FREATE 12
13 13 BEEREH [HES 3] 8 1 FREATE 13
14 14 1 BEEREH IAE 14| 8 1 FREATE 14 —FERE
15 15 1 ik [HES 15X 1 FREATE 15
16 1 16 6] 8 1 16 | 71 FREATE 16
17 17 178 HES 17| 8 1
18 18 —FERE 1 18|k 18 18] %
19 19 19| 7 19 19| &
20 20 20 K —FERE 20[ B 1 20| 7]
21 21 1 21| & 21| A S 21 K
22 22 1 DREE 1 22| £ 22 | X AES 1
23 1 23 1 DREE 1 23| B 1 23] 7] 23[R 1
24 24 1 DREE 1 24| B 24 | K 24| B 1
25 25 1 25| X BERK HES 25| A 1
26 BER L 26 BEREHE 1 26 | 7} 26 | £ 26 [ X 1
27 27 £ BEREHE 1 AES 27| 8 1 K 1
28 28| B 1 BEREHE 1 28 FRAFR 28| A IEES 1
29 BHOH 29 A 1 BAEE 29 29 [ & 1 DREE
30 1 30| & 1 BAREE 3[R 1 30 [ K 1
31] K — 1 31| A — I 31| K — .
EHE S EHE E3 EHE S EHE 3 BiE E3 EHE ESi
FHREH 0 0 FHREE 4 0 FHEEE 8 0 FHREE i 0 FHEEE 3 0 FHEEE [} 0
REREE 5 0 REREE 4 0 FEREH 4 0 REREE [} 0 FREREE 4 0 REHREE [} 0
=azmsEes;  HDIV/01 #DIV/0 waausas: | HDIV/0! #DIV/01 =azmames:  HDIV/ 00 #DIV/0 Fazwsrs: | HDIV/ 0] #DiV/0i Sazmanas:  ADIV/00 #DIV/0i wazusirs: | #DIV/0] #DIV/0i
waananas:  #DIV/ 01 #DIV/0 wazmsirs: | HDIV/0! #DIV/01 waznamea:  #DIV/ 01 #DIV/ 0 wazmsrs:  HDIV/ 0] #DiV/0i waananes:  #DIV/ O #DIV/0i wazmsirs: | #DIV/ 0] #DIV/0i
T T = T T = T T =
10A BB 3 BREE 118 SHE S BEREE 1 ETEl EiE BREE 18 EHE S BEREE 2R ETE e BREE 3A FHE L FEREE -
B @] &R RER =] ®ER *ER =] 3= RER B[] ##ER *#ER [=] #ER kER B ] ##ER *#ER FRRER
1 1 1 1 1 BREE [HES 1 1 1 SFERAR HES ZER EE
2 1 DEEE 2 2 2 1K 2 1 HEALERS 21t
3 DRIEE 3 3 1 3 [ 1 3 3|8 1 5 0
4 4 RERIA () 4 1 HFREE 4 | K 4 1 41 R
5 5 REIN @) 5 HREE 5| & 5 5 [ X EZi
6 6 1 6 6 [+ 6 6 |7 1
7 7 7 118 1 7 [AES 1 —RASER
8 1 8 8 8 | 8 8 |2 1
9 9 9 9 |k sagst 9 9 1
10 10 10 1 10 7] 10 1
11 11 11 [HES 1 11 1
12 12 1 12 12| & 12 1 — Ay E o) 6 5
13 13 13 131 £ 13 1
14 SERIA T 14 BEIRT 14 —FEBE 141 8 1 14 1 E3
15 1 I HI) 15 BEHRIT 15 15[ A 1 15 1
16 16 BEIRET 16 16 | K 1 16 1 0
17 17 BRI 17 1 17 1 17 8 1 ARRER
18 18 18 18] K 18] 8 1 18| B
19 19 1 19 19 & 19| A 1 19| &
20 KIF 20 20 20| £ 20 | X 1 20 [
21 KIF 21 21 21| B 1 21 7] 1 21 K ik
22 1 22 22 22| A 22| K 1 12 RS ik
23 [ 23 1 23 HES 23| & 23 [ 1
24 24 1 24 1 24| 7} 24 £ 1 1
25 25 1 25 25| K 25| B 1 BT
26 26 1 26 26| & 26| A 1 1 2EPEREE]
27 27 1 27 27| £ 27 K 1 1 2EPEREE
28 28 1 28 R 28| B 1 28 | 7k 2R
29 1 29 1 29 1 29| A SPERER 29 | K
30 30 1 MAEE 30 1 30| & IFEXREE
31 31 1 31] K IFERER 31| H 1
T = i g T =0 TTE i i ES TE £
FHREH i 0 FHREH [} 0 FHREH 3 0 FHREH i 0 FHREH i0 0 FHREH § [}
REKEE 5 0 REREH 5 0 REREH 7 0 KHREH 5 0 REREH 7 [} RHREH i [}
saznamis  HDIV/01 #DIV/0F sagmsars  HDIV/0! #DIV/01 Saznanis  HDIV/00 #DIV/01 sagnsars;  HDIV/0! #DiV/0i Saznanis:  HDIV/0! #DIV/0i sagmanrs; | HDIV/0! #DIV/0i
waznamssi  $DIV/01 #DIV/0! waznsmrsl  HDIV/0! #DIV/0! waznamss  4DIV/0! #DIV/0! wazwsmrs]  #DIV/0! #DIV/0! waznsmss  4DIV/0! #DIV/0! waznsmrsl  #DIV/0! #DIV/0!




